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a=N1/N2=10/1000=1/100
1/a=100
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a=N1/N2=1000/10=100

V1=100%20=2000
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« Z=V/1=80/40=2[Q]

e P=[*|*r=1200

e« r=1200/(40*40)=1200/1600=3/4
e X=y (2%2-0.75%0.75)=1.85[Q]
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e (1) BOXREIET p [%]

e Q) EIEA LV E—K Y R%Z[%]

e B ENXRY T RYRET q[%]

o (4)BNHEA 60 %, 80 %, 100 %D & =DREBELHR
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(1) B HETET p [%]
—REEER=300/6.6=45.45A

P=I**r=3600

r=3600/(45.45%45.45)=1.74[ Q]
p=(1.74*45.45)*100/6600=1.2[%]
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« 7=V /1=300/45.45=6.6[ Q]

e X=y (6.6%6.6-1.74*1.74)=6.37[ Q]
e q=6.37*45.45*100/6600=4.38[%]



Si&EA v E— & v 2% Z[%]=v (p*p+q*q)

. (2)
e =/ (1.2%1.2+4.38*4.38)=4.54[%)



(4) ENHEA 60 %, 80 %, 100 %D & = DK EELEXK
60, £80, £100[%]

£ 60=p*cos O +p*sin 6 =1.2*¥0.6+4.38*0.8=4.22| %]
£ 80=p*cos O +p*sin 6 =1.2*¥0.8+4.38*0.6=3.59( %]

£ 100=p*cos O +p*sin 8 =1.2*1+4.38*0=1.2[%]



